

City of Tempe

Bid Tabulation

Bid Date 03/25/21 Bid Time 9:00 AM

McClintock Roadway Widening Improvements - Phase II (North), Broadway Road to Apache Boulevard Project No. 5408751B

Base Bid

Item No.	Item Name	Quantity	Unit	Eng. Est.	LINCOLN CONSTRUCTORS	COMBS CONSTRUCTION COMPANY
				Unit Cost Total Cost	ORS	Ö
1	CONSTRUCTION SURVEYING	1	LS	\$15,000.00 \$15,000.00	NON-RES	\$23,000.00 \$23,000.00
2	CONSTRUCTION RECORD DRAWINGS	1	LS	\$5,000.00 \$5,000.00	NON-RESPONSIVE	\$500.00 \$500.00
3	QUALITY CONTROL	1	LS	\$10,000.00 \$10,000.00	NON-R	\$27,000.00 \$27,000.00
4	STORMWATER POLLUTION PREVENTION PLAN	1	LS	\$15,000.00 \$15,000.00	NON-RESPONSIVE	\$10,000.00 \$10,000.00
5	MOBILIZATION / DEMOBILIZATION	1	LS	\$100,000.00 \$100,000.00		\$90,000.00 \$90,000.00
6	PERMIT ALLOWANCE	1	AL	\$10,000.00 \$10,000.00	NON-RESPONSIVE	\$10,000.00 \$10,000.00
7	TRAFFIC CONTROL ALLOWANCE	1	AL	\$125,000.00 \$125,000.00		\$125,000.00 \$125,000.00
8	OFF-DUTY POLICE OFFICER ALLOWANCE	1	AL	\$30,000.00 \$30,000.00	NON-RESPONSIVE	\$30,000.00 \$30,000.00
9	LANDSCAPE RESTORATION ALLOWANCE	1	AL	\$5,000.00 \$5,000.00	SPONSIVE	\$5,000.00 \$5,000.00
10	SUBGRADE PREPARATION	151	SY	\$9.00 \$1,359.00		\$48.00 \$7,248.00

11	14" ABC	151	SY	\$32.00 \$4.832.00		\$62.00 \$9.362.00
12	ASPHALT CONCRETE R-1/2" (EVAC) (HIGH VOLUME PMTR+ @ 6.0% BINDER)	151	SY	\$12.00 \$1,812.00	NON-RE	\$38.00 \$5,738.00
13	ASPHALT CONCRETE A-3/4" (EVAC) (PG70-10 @ 5.0% BINDER)	151	SY	\$22.00 \$3,322.00	NON-RESPONSIVE	\$40.00 \$6,040.00
14	BITUMINOUS TACK COAT (EMULSIFIED ASPHALT)	1	TN	\$650.00 \$650.00		\$675.00 \$675.00
15	MICROSEAL (TYPE II)	6220	SY	\$5.00 \$31,100.00	NON-RESPONSIVE	\$4.20 \$26,124.00
16	MICROSEAL (TYPE III)	11597	SY	\$6.00 \$69,582.00		\$3.75 \$43,488.75
17	MILL 1/2" AC PAVEMENT	11456	SY	\$2.50 \$28,640.00	NON-RESPONSIVE	\$1.40 \$16,038.40
18	VERT CURB, GUTTER & TRANSITIONS, TYPE A (MAG 220-1)	453	LF	\$30.00 \$13,590.00		\$40.00 \$18,120.00
19	CONCRETE SIDEWALK, 4"	13998	SF	\$7.00 \$97,986.00	NON-RESPONSIVE	\$5.45 \$76,289.10
20	SIDEWALK BIKE RAMP (DETAILS 1 & 2)	2	EA	\$5,000.00 \$10,000.00	PONSIVE	\$3,300.00 \$6,600.00
21	DRIVEWAY ENTRANCE (COT T-446)	1924	SF	\$10.00 \$19,240.00	NO N-	\$11.50 \$22,126.00
22	ADJUST MANHOLE FRAME & COVER (COT T-446)	3	EA	\$600.00 \$1,800.00	NON-RESPONSIVE	\$630.00 \$1,890.00
23	ADJUST VALVE BOX & COVER, TYPE C (COT T-445)	13	EA	\$500.00 \$6,500.00		\$510.00 \$6,630.00
24	REMOVE AC PAVEMENT	86	SY	\$8.00 \$688.00	NON-RESPONSIVE	\$36.00 \$3,096.00
25	REMOVE & REPLACE AC PAVEMENT (DRIVEWAY MATCHING)	96	SY	\$35.00 \$3,360.00	PONSIVE	\$90.00 \$8,640.00
26	SAWCUT AC PAVEMENT	467	LF	\$2.00 \$934.00		\$2.00 \$934.00

27	REMOVE CURB & GUTTER	453	LF	\$3.00		\$13.75
				\$1,359.00		\$6,228.75
28	REMOVE & REPLAE HEADER CURB	47	LF	\$15.00		\$30.00
				\$705.00	NON	\$1,410.00
29	REMOVE CONCRETE SIDEWALK, DRIVEWAYS &	10101	SF	\$3.00	Ä	\$2.85
	SLABS			\$30,303.00	NON-RESPONSIVE	\$28,787.85
30	REMOVE TREES (GREATER THAN 12" DIA.)	2	EA	\$600.00	SIVE	\$765.00
				\$1,200.00		\$1,530.00
31	REMOVE & SALVAGE STREET LIGHT POLE	4	EA	\$1,000.00	<u> </u>	\$140.00
				\$4,000.00	RES	\$560.00
32	REMOVE (STREET LIGHT FIXTURE)	17	EA	\$100.00	NON-RESPONSIVE	\$60.00
32	REMOVE (STREET LIGHT FIXTURE)	17	EA	\$1,700.00	SIVE	\$1,020.00
				ψ1,700.00		
33	REMOVE & REPLACE BUSINESS SIGN IN KIND	1	EA	\$5,000.00	NO	\$370.00
				\$5,000.00	点	\$370.00
34	RELOCATE SIGN ON STREET LIGHT POLE	12	EA	\$400.00	ŝPO	\$275.00
				\$4,800.00	NON-RESPONSIVE	\$3,300.00
35	OBLITERATE EXISTING PAVEMENT MARKING	3700	LF	\$2.00		\$0.35
				\$7,400.00	NON-RESPONSIVE	\$1,295.00
36	WHITE STRIPE 90 MIL THERMOPLASTIC (4" EQUIV)	9900	LF	\$1.00	RES	\$0.40
				\$9,900.00	PONS	\$3,960.00
37	YELLOW STRIPE 90 MIL THERMOPLASTIC (4" EQUIV)	3920	LF	\$1.00	SIVE	\$0.40
	,			\$3,920.00	_	\$1,568.00
38	WHITE STRIPE PAINT (4" EQUIV)	5550	LF	\$0.50	NON-RESPONSIVE	\$0.15
30	WHITE STRIFE PAINT (4 EQUIV)	3330	LI	\$2,775.00	, E	\$832.50
				, ,	ŝPO	,
39	YELLOW STRIPE PAINT (4" EQUIV)	3320	LF	\$0.50	VSIV	\$0.12
				\$1,660.00	LJ.	\$398.40
40	OBLITERATE EXISTING PAVEMENT MARKING	2	EA	\$200.00	z	\$93.00
	SYMBOL			\$400.00	NON-RESPONSIVE	\$186.00
41	PAVEMENT MARKING TURN LANE ARROW	4	EA	\$225.00	ÆSF	\$85.00
	SYMBOL, THERMOPLASTIC			\$900.00	No	\$340.00
42	PAVEMENT MARKING BIKE LANE SYMBOL,	3	EA	\$225.00	SIVE	\$120.00
42	THERMOPLASTIC	J	EA	\$225.00 \$675.00		\$120.00
				ψ01 3.00		ψου.υυ

43	PAVEMENT MARKING BIKE LANE ARROW, THERMOPLASTIC	3	EA	\$225.00 \$675.00		\$85.00 \$255.00
44	PAVEMENT MARKING LEGEND AND SYMBOL, PAINT	10	EA	\$150.00 \$1,500.00	NON	\$40.00 \$400.00
45	RAISED PAVEMENT MARKER, TYPE D (ADOT M-19)	70	EA	\$8.00 \$560.00	NON-RESPONSIVE	\$3.50 \$245.00
46	RAISED PAVEMENT MARKER, TYPE G (ADOT M-19)	210	EA	\$8.00 \$1,680.00		\$3.50 \$735.00
47	RAISED PAVEMENT MARKER, TYPE BB (ADOT M-19)	1	EA	\$8.00 \$8.00	NON-RESPONSIVE	\$3.50 \$3.50
48	STREAMLINE STEEL POLE, MAST ARM & FOUNDATION (COT T-651)	5	EA	\$5,500.00 \$27,500.00	ONSIVE	\$4,300.00 \$21,500.00
49	RELOCATE STREET LIGHT POLE	4	EA	\$1,500.00 \$6,000.00	NON-RES	\$2,200.00 \$8,800.00
50	LED LIGHT FIXTURE (ROADWAY)	22	EA	\$2,000.00 \$44,000.00	NON-RESPONSIVE	\$650.00 \$14,300.00
51	RETAINING WALL FOOTING MODIFICATION (DETAIL 101)	855	LF	\$150.00 \$128,250.00		\$95.00 \$81,225.00
52	LIGHT POLE FOOTING (DETAIL 102)	4	EA	\$3,000.00 \$12,000.00	NON-RESPONSIVE	\$4,700.00 \$18,800.00
53	SKEWED RETAINING WALL (DETAIL 103)	10	LF	\$450.00 \$4,500.00		\$610.00 \$6,100.00
54	REMOVAL OF PLANTER WALL	820	LF	\$50.00 \$41,000.00	NON-RESPONSIVE	\$75.00 \$61,500.00
55	REMOVAL OF PLANTER STREETLIGHT POLE FOUNDATIONS	4	EA	\$2,200.00 \$8,800.00	ONSIVE	\$115.00 \$460.00
56	REMOVAL OF PLANTER BACKFILL AND IRRIGATION SYSTEM	1	LS	\$15,000.00 \$15,000.00	NON-R	\$22,000.00 \$22,000.00
57	REMOVAL OF PLANTER TREES	83	EA	\$450.00 \$37,350.00	NON-RESPONSIVE	\$280.00 \$23,240.00
58	REMOVE & REPLACE FIRE HYDRANT (MAG 360-1M 360-M & 362)	1	EA	\$3,500.00 \$3,500.00	Ϋ́E	\$10,000.00 \$10,000.00

59 CATCH BASIN (BICYCLE FRIENDLY GRATE)	2	EA	\$2,200.00 \$4,400.00	NON-RESPO	\$7,200.00 \$14,400.00	
	Total Ba	se Bid:	\$1,023,815.00	NSIVE	\$915,649.25	